
RELEASED TO PRODUCTION

NONE

09V098XX
XXX XX-XX-XXXX-XX-XX

09V098XX_DS/00A.PRT

00A

XXX

09V098XX/00.PRT

1

2RU HORIZONTAL, (6) L6-20R
POWER OUTLET UNIT (XXXXXXXXXX)

CONTROL DRAWING

   

   

NOTES:   

     PART NO.              COLOR   

   2. ACCESSORY COMPONENTS:
      (4) 10-32 x 1/2” MOUNTING SCREWS
      (4) 12-24 x 1/2” MOUNTING SCREWS

   3.  HEXAGONS ARE FOR COMMUNICATION PURPOSES.
   4.  DIMENSIONS IN PARENTHESES ARE METRIC (mm).

 

   5.  REFERENCE CMI-07086 FOR PACKAGING INFORMATION.

     QN0D2P3BN24Z1        BLACK   

09V098XX

   

   1. IDENTIFICATION: VERTICAL, (12) C13 & (12) C19
      NETWORKED & ENVIRONMENTAL MONITORED
      230/400 V / 32A / THREE-PHASE WYE POU

PLUG
30 AMP, 250V
TWIST-LOCK
NEMA L5-30P

PLUG
20 AMP, 125V, SINGLE-PHASE
STRAIGHT BLADE
NEMA 5-20P

PLUG
60 AMP, 250V, SINGLE-PHASE
2P/3W
IEC 60309, SPLASHPROOF

PLUG
30 AMP, 250V
TWIST-LOCK
NEMA L6-30P

PLUG
16 AMP, 230/400V x 3~ WYE
4P/5W
IEC 60309, SPLASHPROOF

EIGHT (8)
RECEPTACLES
20 AMP, 125V
STRAIGHT BLADE
NEMA 5-20R

PANDUIT P/N                          WEIGHT

QN1D2P3BN24Z1           17 lb (7.7 kg)

RELEASED TO PRODUCTION

NONE

09V098KI
MRWA 11-22-1111-22-11

09V098KI_DC/00A.PRT

00A

MRWA

09V098KI/00.PRT

VERTICAL, (12) C13 & (12) C19
NETWORKED & ENVIRONMENTAL MONITORED

CUSTOMER DRAWING

09V098KI

   

   

NOTES:   

     PART NO.              COLOR   

     QN1D2P3BN24Z1        BLACK   

   3.  HEXAGONS ARE FOR COMMUNICATION PURPOSES.

   5.  UL & c-UL LISTED 60950.
   6.  RoHS COMPLIANT.
   7.  VISIT OUR ON-LINE CATALOG AT WWW.PANDUIT.COM FOR
        A CURRENT LIST OF PRODUCTS APPLICABLE FOR USE
        WITH THIS PART.

   8.  MAXIMUM AVAILABLE INPUT POWER = 3.6 KW

® ®

     9.  INSTALLATION SHALL COMPLY WITH ALL APPLICABLE 
          NATIONAL, STATE, AND LOCAL CODES.

PLUG
16 AMP, 230/400V x 3~ WYE
4P/5W
IEC 60309, SPLASHPROOF

TWELVE (12)
RECEPTACLES
10 AMP, 230V
STRAIGHT BLADE
IEC 60320/C13

TWELVE (12)
RECEPTACLES
16 AMP, 230V
STRAIGHT BLADE
IEC 60320/C19

   2. ACCESSORY COMPONENTS:
      (4) #10-32 x 1/2” MOUNTING SCREWS
      (4) #12-24 x 1/2” MOUNTING SCREWS
      (2) #10-32 LOCKING COLLAR SCREWS 
      (2) L-BRACKETS

   1. IDENTIFICATION: VERTICAL, (12) C13 & (12) C19
      NETWORKED & ENVIRONMENTAL MONITORED
      230/400 V / 32A / THREE-PHASE WYE POU

   4.  POWER (A,V,PF,KWH) MONITORING AND ENVIRONMENTAL 
        SENSOR DATA CAN BE ACCESSED REMOTELY VIA ETHERNET 
        CONNECTION, LOCAL DISPLAY, OR OPTIONAL REMOTE DISPLAY
        (PVQ-RD).  

Reboot

Serial
Default:

7049-1

PViQ Networked POU

Reboot

Serial
Default:

7049-1

PViQ Networked POU

64.75 (1644.7)
TOOLLESS MOUNTING BUTTON LOCATION

66.25 (1682.8)

0.75 (19.1)

1.0 (25.4)

DETAIL A
(SCALE 4X)

NETWORKED ETHERNET CONNECTION
(SEE DETAIL A) 

2.25 (57.2)

2.0 (50.8)

3.69 (93.7)

16 AMP, 2 POLE UL LISTED ELECTRO
       MECHANICAL SWITCH/BREAKER
                                                   3 PLACES

TWENTY-FOUR (24)
RECEPTACLES
10 AMP, 250V
STRAIGHT BLADE
IEC 60320/C13

SIX (6)
RECEPTACLES
16 AMP, 250V
STRAIGHT BLADE
IEC 60320/C19

TWELVE (12)
RECEPTACLES
20 AMP, 125V
STRAIGHT BLADE
NEMA 6-20R

SIX (6)
RECEPTACLES
20 AMP, 250V
TWIST LOCK
NEMA L5-20R

SIX (6)
RECEPTACLES
20 AMP, 250V
TWIST LOCK
NEMA L6-20R


